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And furthermore what is the 27 1"

Overview

The X713 negated the suggestion that the entire dispute between "1 ¥"7 1s
whether w7pn receives compensation for damages it sustained. One of the
refutations is that if this is indeed their argument, then what did ¥"7 mean
when he said ‘w7pa% 1" — and certainly that wpn will receive 2vn’. »"wA
and MooIN disagree as to the interpretation of this refutation.
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“"'w9 explained, that since the words of 'm7opn »' that p''9 says, is

referring to the n>7°v of the 1.77’:, and it is a leniency for the P> -
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For the 1% can pay the pr1 from the ns2ast of the P (when it is
comparable to the pr1 5w n°7°v), then what is the wpa® "'p; it is a

deficiency, for wipn will (possibly) receive only the n12°1 of the »m (and not his
Ty,

mooin disagrees with >"wA:
— NN NIN RPN NT PPNT IVIVAY NYP)

And s""w" interpretation is difficult, for it is not a deficiency, but rather

a stringency (on the part of ¥") -
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For °"9 exempts a pu of w7pnt entirely from any payment and ''9
requires him to pay a w'"1 -
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And (even) concerning 2w it is also significant payment, for the p°m
pays (at least) from the 2us» of the P11, and not from the inferior
properties of the pra.>

mooin offers his explanation of "wW7pa? 1"p *Xn 7W":
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And the >'"1 is of the opinion that this is the explanation of the question

"W 1" 9% TP, what is this 1"p teaching us -
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' We are now assuming that both "1 ¥"1 agree that 1™ priTa.

* How can we say that if v177 receives only a7 n112°1 then certainly w75 should receive only na
2 127?! The 1"p should be used to make w7pii stronger not weaker.

? The 1"p does teach us a stringency by w7pn that otherwise "1 negates; firstly that a payment is due, and
secondly that this payment must at least be the equivalent of the p1217 n>7p.
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For »'"1 cannot be discussing (when he says w7pn? 1"?1) concerning the
general obligation to pay, of one who damages wp:7; for that he derives

from the oD of W' (that only 7v7 W pays a 1"7, not for a WP v MW, where a
w"1is required); and not from the P05 of *aum -
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But rather when ¥" said w7pn? 1" he was referring to the concept of
awn; so therefore ¥''9 should not have responded to >''= that it is a Y'"p that

TP receives 20N -
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Since (even) 3% would admit that w7757 should receive 2v°n, if not for the

fact that >3 exempts w7p entirely from receiving any payments.” The npyomn
between ¥" "7 concerning WP is irrelevant to the laws of 2v7. It should not be
mentioned in the context of 2v™.

Summary
"9 maintains that since the P can pay from his 01271, then it is

inappropriate to say w72 1"p), since we are minimizing the obligation of
the pom.

moon argues that making the pt» pay wipn from the P17 nN°7°Y is not
minimizing but rather emphasizing the obligation of the p>m.

N1BoIN maintains that since ¥"7 wants to emphasize that w727 is compensated
N 7Y, it is not necessary to address this point to °"9, who may agree with
him (at least in principle).

Thinking it over

How can we understand the dispute between >"w2 and md0in; *"w7 maintains
that since we pay only pP1°17 n>7°vn it is therefore considered a Xmy»13 for
7P and we cannot say WP 1"p1, while 90N maintains that since he is
2°n by wipn and has to pay 2vn (granted only P17 2w, but 2wn
nonetheless) therefore it is a X7 and a M2°wn. What is the basis of their
disagreement?°

* 9" and > are discussing the P09 of avn. When "1 stated w7p2 "1 121 2107 X2 XY he was referring to
this 7109 of 2v°n. We do not derive from this 109 that w7ps is entitled to payment through a 1"p. It is
derived from 1y7 M. When ¥ stated w7272 1" he was only referring to the fact that w7ps is paid in 2v°»
because of the 1"p.

> There is no disagreement whether w717 should receive 1"pn 2v°»; even *" would agree to that; if w7ps
would be compensated for damages it would receive 2 n.

% See 2.
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